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General Knowledge of Chhattisgarh

Section Id : 14658711
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 146587251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following state is situated in the east of Chhattisgarh?
Options :

1465871001. * Jharkhand

1465871002. * Bihar

1465871003. ¥ Odisha

1465871004. * Maharashtra

Question Number : 1 Question Id : 146587251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafofed & I &9 91 Iy BT & gd § fRia 72
Options :

1465871001, ¥ JIRTS

1465871002. # f98R

1465871003. ¥ IS




1465871004. * HERTY

Question Number : 2 Question Id : 146587252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Physiographically, Chhattisgarh is divided into parts.
Options :

1465871005. * six

1465871006. * four

1465871007. * five

1465871008. ¥ three

Question Number : 2 Question Id : 146587252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Hifae ifﬂ(_“[ EiES (Physiographically), @T‘ﬁ‘%ﬂ?{ Cal o I § SfeT T g |
Options :

1465871005. * B¢

1465871006. * dR

1465871007, # U

1465871008, ¢ i

Question Number : 3 Question Id : 146587253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following was first martyr from Chhattisgarh in the War of Independence, 18577
Options :

1465871009. * Raja Shahabzada Singh

1465871010. * Vir Kunwar Singh

1465871011. * Babu Amar Singh

1465871012. ¥ Vir Narain Singh



Question Number : 3 Question Id : 146587253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fafeiad 7 @ o1 Tdadr 9uM, 1857 # SUIE & UYH T@ie A2
Options :

1465871009. % XTSI QgTeoGl Rig

1465871010. ¥ dR por Rig

1465871011. % dIq 3R R¥ig

1465871012, ¢ dR AR Rig

Question Number : 4 Question Id : 146587254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The freedom fighter Babu Chhoteylal Shrivastav was the organiser of:

Options :

1465871013. ¥ Kandel Canal Satyagraha.

1465871014. # forceful occupation of the godown of the trader named Makhan.

1465871015. # an army of 500 personnel that fought the battle with Lt. Smith, the Assistant Commissioner of Raipur.
1465871016. # the murder of Sergeant Major Sidwell.

Question Number : 4 Question Id : 146587254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AT YT ST BlcArd Hlarad & Ao A

Options :

1465871013. ¢ dad 8 ARG

1465871014, % HRGT ATHG JTURT & MEH IR JAYdS ST

1465871015, % 500 HIHTT BT 3T T o TG IAYR o TeTIS S Afte-e R o 1Y S el

1465871016, % TToic HoR RIedd & gl




Question Number : 5 Question Id : 146587255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In 1904, the estates of Sarguja were transferred to Chhattisgarh from:
Options :

1465871017. * Odisha

1465871018. ¥ Bengal

1465871019. ¥ Maharashtra

1465871020. * Andhra Pradesh

Question Number : 5 Question Id : 146587255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1904 H RALST 1 THGT Bl Y BTG RIFIR DR a1 |
Options :

1465871017. % NS

1465871018, ¢ TITd

1465871019. ¥ HERTY

1465871020. # 3fiY U2

Question Number : 6 Question Id : 146587256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following dialects is generally spoken in central Chhattisgarh?
Options :

1465871021. * Utti Chhattisgarhi

1465871022. # Khaltahi Chhattisgarhi

1465871023. ¥ Kedri Chhattisgarhi

1465871024. ®* Bhandar Chhattisgarhi

Question Number : 6 Question Id : 146587256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

HET BTG H M IR IR Fufaiad & 9 & It sl St 82
Options :

1465871021. ¥ &gl BUINTG]

1465871022, ® Wdldlal SRITG!

1465871023. ¥ Bl SUNRTTG]

1465871024, ¥ SR BTRITG!

Question Number : 7 Question Id : 146587257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which festival of Chhattisgarh is also referred to as 'Chariot festival' as it occurs at the same time when the Rath Yatra of the Hindus is
celebrated?

Options :

1465871025. ¥ Teeja Festival
1465871026. ¥ Goncha Festival
1465871027. #* Madai Festival
1465871028. #* Bhoramdeo Festival

Question Number : 7 Question Id : 146587257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FARATG & [ TR P RY-AER' & =0 H 1} S 971l § Fifeh T8 It TH il & O Rg3it &1 U TR HAR STl 82
Options :

1465871025. % IS Helqd

1465871026. ¢ T HalId

1465871027. % ASs Helgd

1465871028. ¥ YA Hgldd

Question Number : 8 Question Id : 146587258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which two districts of Chhattisgarh are popular for crafting bell metal handicrafts (Dhokra art) using brass and bronze?
Options :

1465871029. ¥ Bastar and Raigarh

1465871030. ¥ Dantewara and Kanker

1465871031. # Rajnandgaon and Dhamtari

1465871032. # Durg and Bilaspur

Question Number : 8 Question Id : 146587258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG & DI I &l o Tad 3R ST BT ITUNT RSP 9d Hed xR (GIhT Ha) e & e Aeig g2
Options :

1465871029, ¥ SXR 3R TG

1465871030. % SAATST MR Bl

1465871031, % ISHIGITT 3R &

1465871032, % g1 3R foamqR

Question Number : 9 Question Id : 146587259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following dance forms was promoted by Dau Ramchandra Deshmukh?
Options :

1465871033. # Sonha Bihan

1465871034. # Gammatiha

1465871035. ¥ chandaini gonda

1465871036. # Raut Nacha

Question Number : 9 Question Id : 146587259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafeied & 9 for T faensil &1 UaR a3 I\ ¢x|™ A foar um




Options :

1465871033, # gl fog™
1465871034, % THfaar
1465871035, + Tt Mal

1465871036. * 3d -Id

Question Number : 10 Question Id : 146587260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

On which part of the body is the ornament 'Khinwa' worn in Chhattisgarh?
Options :

1465871037. * Foot

1465871038. * Nose

1465871039. * Hand

1465871040. ¥ Ears

Question Number : 10 Question Id : 146587260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG H RITaT SMYS0T IRR & ford U UR/H UGl Sl 82
Options :

1465871037. % W

1465871038. # I

1465871039. # BIY

1465871040. ¥ DI

Question Number : 11 Question Id : 146587261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the name of the project of computerization of land records of Chhattisgarh state?
Options :



1465871041. ¥ Project Dhara
1465871042, ¥ Project Bhuiyan
1465871043. # Project Bhoomi
1465871044, # Project Thal

Question Number : 11 Question Id : 146587261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
BTG 5T B BT Y TUTRT A0 URTSHI B |
Options :
1465871041, ¥ YIolde &RT
1465871042, ¢ Hioide Ygar
1465871043, % Ylolde YA
1465871044, % Jioide Ud

Question Number : 12 Question Id : 146587262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Chhattisgarh state has a/an legislature.
Options :

1465871045. # bicameral

1465871046. # concurrent

1465871047. ¥ unicameral

1465871048. # inclusive

Question Number : 12 Question Id : 146587262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TG I H U Ay Hsa gl

Options :

1465871045, % fgaa-g



1465871046. % Tl

1465871047, ¢ TdHIaA
1465871048, % JHTARI

Question Number : 13 Question Id : 146587263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which basic philosophy underlies the concept of the gram sabha?
Options :

1465871049. # Representative democracy

1465871050. * parliamentary democracy

1465871051, # direct democracy

1465871052. ¥ participatory democracy

Question Number : 13 Question Id : 146587263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

B T el SRR T GHT BT SR b1 I fhd T 82
Options :

1465871049. % Y& b=

1465871050, % I Aibax

1465871051, % T&f Aldbad

1465871052, ¢ HIMGRY dlebad

Question Number : 14 Question Id : 146587264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Judge of the High Court of Chhattisgarh, who is the judicial head of the state, is appointed by the:
Options :

1465871053. ¥ President of India

1465871054. # Prime Minister



1465871055. # Governor of Chhattisgarh
1465871056. # Chief Minister of Chhattisgarh

Question Number : 14 Question Id : 146587264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SUIIE S T & Ry, Sl g & ifes U@ i 8, 3771 Figfad & gR1 &1 ol &
Options :

1465871053, ¥ HRd o FUfd

1465871054, % U&= H31

1465871055, % BTG P odquTd

1465871056. ¥ TG & JH]

Question Number : 15 Question Id : 146587265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following waterfalls of Chhattisgarh is the broadest waterfall of India?
Options :

1465871057. # Dev-Pahari waterfall

1465871058. # Gullu waterfall

1465871059. # Tirathgarh waterfall

1465871060. ¥ Chitrakote waterfall

Question Number : 15 Question Id : 146587265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafeiad # S<irTe &1 $1F 91 STauurd HRd &1 I9Y sl STauuTd 82
Options :

1465871057. ¥ <d-Ug<l STavUTd

1465871058, %* T[cq] STaTgaTd

1465871059, ¥ TRYTG STAUUTd




1465871060. ¢ =i STauuTd

Question Number : 16 Question Id : 146587266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The "Zaid crop season" in Chhattisgarh state lasts for which period?
Options :

1465871061. # January to March

1465871062. ¥ March to June

1465871063. * September to November

1465871064. ¥ November to January

Question Number : 16 Question Id : 146587266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG T H "oie BId ol AgH" f5g 3afd de Tgar g2
Options :

1465871061, # SHa T A

1465871062, ¢ HTH I 57

1465871063, % RydeR § TdeR

1465871064, % TdaR I SR

Question Number : 17 Question Id : 146587267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What was the motto of the Rs 90,910 crore budget of Chhattisgarh state for the year 2019-2020?
Options :

1465871065. # Sabka Saath Sabka Vikash

1465871066. # Aagay Badhey Sabke Sang

1465871067. # Ek Vichar Ek Adarsh

1465871068. ¥ Bahujan Hitay, Bahujan Sukhay



Question Number : 17 Question Id : 146587267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

¥ 2019-2020 & T BTG ST & 90,910 FHRIS TUTT & Fole BT I |

Options :
1465871065. % FaPHT 1Y Yoo fabTy

1465871066, * 3T g¢ b T
1465871067. ¥ T faaR T 3MMazf
1465871068. ¥ Sgoi fgdid Igo- &I

Question Number : 18 Question Id : 146587268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The allocation under the 'MLA Local Area Development Fund' for the state of Chhattisgarh in the Budget of the state for 2019-2020 was:
Options :

1465871069. # 1 crore per annum

1465871070. ¥ 2 crore per annum

1465871071. # 2.5 crore per annum

1465871072. # 3.5 crore per annum

Question Number : 18 Question Id : 146587268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2019-2020 & T & FoIc H BTG g o T Taemas R &7 faer i o d8d 31 sfide oT:
Options :

1465871069, # 1 HIS Ufd a8

1465871070. ¢ 2 IS Ufa a9

1465871071, # 2.5 IS Ul Iy

1465871072. # 3.5 BV Ul Iy




Question Number : 19 Question Id : 146587269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is an important coal mining centre of Chhattisgarh?

Options :

1465871073. # Jharia coalfield

1465871074. # Bokaro coalfield
1465871075. # Talchar coalfield
1465871076. ¥ Korba coalfield

Question Number : 19 Question Id : 146587269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Frafifed & ¥ o ITITE &7 U HedqUl SR T 3% 82
Options :

1465871073, % i Hraar &=

1465871074, # BRI BT &

1465871075, # ATAR I &3

1465871076. ¥ HRET HITQAT &7

Question Number : 20 Question Id : 146587270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is the fabric made in Chhattisgarh by tie and dye technique?
Options :

1465871077. # Rajik

1465871078. # Satik

1465871079. ¥ Batik

1465871080. # Matik



Question Number : 20 Question Id : 146587270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFfefad & ¥ o I HUST 15 3R SIS dh-id gRI BTG | I SITdT 82
Options :

1465871077. % fSIeh

1465871078. % lfded

1465871079. ¢ dIfddh

1465871080. # HIfddH

Question Number : 21 Question Id : 146587271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Out of total forest area in the state of Chhattisgarh, what percentage of area is covered under very dense forests?
Options :

1465871081. * Nearly 5%

1465871082. ¥ Nearly 12%

1465871083. * Nearly 25%

1465871084, * Nearly 43%

Question Number : 21 Question Id : 146587271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

STTE I8 H Bdd o & 7 I fb e Ui &1 9gd U1 SiTeil & Sfaid 31T 82
Options :

1465871081, * <HTHIT 5%

1465871082. ¥ <ITHIT 12%

1465871083, # TITHIT 25%

1465871084, ® TITHIT 43%



Question Number : 22 Question Id : 146587272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Indravathi National park is located at?
Options :

1465871085. ¥ Chhattisgarh
1465871086. * Karnataka

1465871087. * Madhya Pradesh
1465871088. * Jharkhand

Question Number : 22 Question Id : 146587272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SaIadl AP FETH Bl U 62
Options :

1465871085, ¢ BTG
1465871086, ¥ HlcH
1465871087. % He UG
1465871088, # RIS

Question Number : 23 Question Id : 146587273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Chhattisgarh Vidan sabha comprises of members of Legislative assembly.
Options :

1465871089. ¥ 90

1465871090. * 84

1465871091. # 70

1465871092. * 91

Question Number : 23 Question Id : 146587273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

FATE furgy & e T ge B
Options :

1465871089. ¥ 90

1465871090. * 84

1465871091. * 70

1465871092. ¥ 91

Question Number : 24 Question Id : 146587274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When the first session of second Chhattisgarh legislative assembly was held?
Options :

1465871093. * Feb 2004

1465871094. ¥ Dec 2003

1465871095. * Sep 2002

1465871096. * July 2003

Question Number : 24 Question Id : 146587274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

UG ! g [T qUT &1 Ugal 9 e Sioid fhdT 1T UT?
Options :

1465871093, % WHRax] 2004

1465871094. ¢ fa&sR 2003

1465871095. % RydeR 2002

1465871096. ¥ QTS 2003

Question Number : 25 Question Id : 146587275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Zoological name of the state animal of Chattisgarh is



Options :

1465871097. * Bubalus bakinis
1465871098. ¥ Bubalis arnee
1465871099. * Syncerus caffer
1465871100. * Bison bisika

Question Number : 25 Question Id : 146587275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

UG & AG U HI aoied A gl
Options :

1465871097. # F§7F SNBI7H (Bubalus bakinis)
1465871098, ¥ IR 31 (Bubalis arnee)
1465871099. # W%W(Syncems caffer)
1465871100. ¥ TG 91T (Bison bisika)

Computer Knowledge

Section Id : 14658712
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 25
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 14658712
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 146587276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Which of the following is used for reading data coded in the form of light and dark lines?
Options :

1465871101. * Keyboard

1465871102. * Digitiser

1465871103. ¥ Barcode reader

1465871104. ¥ OMR

Question Number : 26 Question Id : 146587276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafafaa o § fege Iuan gea! 3R et} ufdaul & = U § SIfsd ST &) ug & for fosar siar g2
Options :

1465871101, * Pidle

1465871102. ¥ fSfoeBoR
1465871103. ¥ SR®BIS A
1465871104. ¥ OMR

Question Number : 27 Question Id : 146587277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following keys is used to delete a character appearing at the right of the cursor point?
Options :

1465871105. * Tab

1465871106. * Backspace

1465871107. ¥ Delete

1465871108. * Insert

Question Number : 27 Question Id : 146587277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



HIR g & 18 3R fAWTE ¢ aTal AU (Brae?) ®! geH & fore FufaRad # 9 fosg Foit (@) &1 ST foan S g2
Options :

1465871105. * Tab

1465871106. * Backspace

1465871107. ¥ Delete

1465871108. * Insert

Question Number : 28 Question Id : 146587278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are TRUE?

(i) VDU stands for virtual display unit.
(i1) VDU is an input device.

Options :

1465871109. * Only (i)

1465871110. * Only (ii)

1465871111. # Both (i) and (ii)
1465871112. ¥ Neither (i) nor (ii)

Question Number : 28 Question Id : 146587278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

foferfad & ¥ & I/ $YT A /82

(i) VDU &1 QUf &7 virtual display unit (FT437d fS& gfe) B
(ii) VDU U& 31Yc fSargu g|
Options :

1465871109. *¥ Had (i)
1465871110. # PHad (ii)
1465871111, # (i) 3fR (i) T
1465871112, ¢ T (i) R AT (i)



Question Number : 29 Question Id : 146587279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is FALSE?
Options :

1465871113. ¥ SRAM is a volatile memory.
1465871114, ® SRAM is faster than DRAM.
1465871115. ® Both SRAM and DRAM are volatile.
1465871116. ¥ DRAM is faster than SRAM.

Question Number : 29 Question Id : 146587279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fafeiad 7 @ o I YT SR g2

Options :

1465871113. % SRAM U dlaicIsd AHRY g
1465871114, % SRAM, DRAM I 91 g
1465871115. % SRAM 3R DRAM I didiersd gl

1465871116. ¥ DRAM, SRAM I a9 g

Question Number : 30 Question Id : 146587280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

CPU contains small storage units, which are called:
Options :

1465871117. ¥ Decoder

1465871118. * flash memory

1465871119. ¥ Register

1465871120. * Disk

Question Number : 30 Question Id : 146587280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

CPURBR EREgFcglde, e @eIomar gl
Options :

1465871117. % f&PHrex

1465871118, % Trel<T HHINY

1465871119. ¢ ISR

1465871120. ¥ &%

Question Number : 31 Question Id : 146587281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of the below statements?

(1) The storage density for each track of a disk is the same.
(i1) Each disk sector contains multiple tracks.

Options :

1465871121. * (i) - TRUE,; (ii) - TRUE
1465871122. * (i) - TRUE,; (ii) - FALSE
1465871123. #* (i) - FALSE,; (ii) - TRUE
1465871124. ¢ (i) - FALSE,; (ii) - FALSE

Question Number : 31 Question Id : 146587281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fau U fosmetl & 9 1 I1 faw ey Fufeifad SU=i &t IadT &1 Jardd qui- HRdT g2

(i) &3P & UAP ¢ ! Wiet SIS T gt 3|
(i) TP &% Yo H g ¢d gId g |

Options :

1465871121. # (i) - 9; (i) - A

1465871122. % (i) - T; (ii) - 3T




1465871123, ¥ (i) - 319T; (i) - I
1465871124, ¥ (i) - 31; (ii) - 3T

Question Number : 32 Question Id : 146587282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Microsoft Word, which of the following keyboard shortcuts is used to copy formatting from the selected text?
Options :

1465871125. ¢ Shift + Ctrl + C

1465871126. * Alt+ Ctrl + C

1465871127. * Shift + Ctrl + X

1465871128. * Shift + Ctrl + F

Question Number : 32 Question Id : 146587282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Microsoft Wordﬁmﬁﬁmmmﬁwmwmmﬁmﬁ%ﬁﬁm%mﬁmwév
Options :

1465871125. % Shift + Ctrl + C

1465871126. * Alt+ Ctrl + C

1465871127. * Shift + Ctrl + X

1465871128. * Shift + Ctrl + F

Question Number : 33 Question Id : 146587283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with an appropriate option that will complete the steps to show hidden track changes and comments in Microsoft Word 2007.

Go to the 'Review' tab -> Go to menu group -> In the dropdown menu of this group select 'Final Showing Markup'
Options :

1465871129. ¥ Changes

1465871130. * Tracking



1465871131. #* Protected
1465871132. * Language

Question Number : 33 Question Id : 146587283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Microsoft Office 2007 H f&U ¢ dull 3R fewfirdl/sdey &! foam & e U Sugad fawed o ary Rad R R |

' Review (R&) ¢F -> WR SR YU > R SME | $9 YU & SIGSISH AL H ' Final Showing Markup (FBTSTd QST ATH3HT)' Dl
Jalae P |

Options :

1465871129. ¢ Changes (JoIoT)

1465871130 * Tracking (o)

1465871131, # Protected (MCdcS)

1465871132, * Language (TI7aw)

Question Number : 34 Question Id : 146587284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arrange the following steps in the CORRECT order to insert a picture from your computer in your Microsoft PowerPoint slide.

a) Go to the 'Insert' tab and in the 'Images' menu group, click 'Pictures'.

b) Click where you want to insert the picture on the slide.

¢) In the dialog box that opens, browse to the picture that you want to insert.
d) Click that picture and then click 'Insert'.

Options :

1465871133. ¥ b); a); ¢); d)
1465871134. # a); b); ¢); d)
1465871135. # d); a); ¢); b)
1465871136. * b); a); d); ¢)

Question Number : 34 Question Id : 146587284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

310 Microsoft PowerPointWﬂ%@ﬁ WWQWWW$mmWﬁWWﬁW®Hﬁ|

a) ' Insert @Wﬁ)‘%ﬁﬁﬁrﬁ@ﬁ?‘ Images @@ITYD' qu\‘{Iq ff, ' Pictures (fﬁﬂﬂﬁ)‘m%ﬁl
b) W3S H WET 37 o 3¢ P31 T84 ©, 8T ki DR |

d) G aTel SN dia J 39 o 31 TS H1 o 31U SIE BT I8 g |

d) 39 7 | fFae B3 3R fBR " Insert (39 R e B |

Options :

1465871133. ¥ b); a); ¢); d)

1465871134. # a); b); ¢); d)

1465871135, # d); a); ¢); b)

1465871136. #* b); a); d); ¢)

Question Number : 35 Question Id : 146587285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the output of following Excel Formula, If values in cells are given as

A3 = brook trout, A4 = species and A5 = 32=CONCATENATE("Stream population for ", A2," ", A3," ", A4, "is ", AS, "/mile.")
Options :

1465871137. #¥ Stream population for "brook trout", "species", is 32/mile.

1465871138. " Stream population for brook trout species is 32/mile.

1465871139. #¥ Stream population for 'brook trout', 'species' is '32/mile.’

1465871140. *¥ Stream population for brook trout species is 32 mile.

Question Number : 35 Question Id : 146587285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FAfIRIT Excel (TRI) BIHd BT TICYC T 8T, Afe I & 59 bR A U 7Y &-

A3 = brook trout, A4 = species GﬁT A5 =32=CONCATENATE("Stream population for ", A2, " ", A3," ", A4, "is ", A5, "/mile.")
Options :
1465871137. #¥ Stream population for "brook trout", "species", is 32/mile.



1465871138. % Stream population for brook trout species is 32/mile.
1465871139. * Stream population for 'brook trout', 'species' is '32/mile.'
1465871140. * Stream population for brook trout species is 32 mile.

Question Number : 36 Question Id : 146587286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
State whether the following statements are TRUE or FALSE regarding Excel.

a) =CODE("A"), displays the numeric code for A.
b) =CODE("!"), displays the hexadecimal code for !.
c) =ABS(-44) , displays the absolute value of -44 that is 44.

Options :

1465871141. ¥ a) — True; b) — True; ¢) — True
1465871142. ¥ a) — True; b) — False; c) — False
1465871143. ¥ a) — False; b) — True; ¢) — True
1465871144, ¥ a) — True; b) — True; c) — False

Question Number : 36 Question Id : 146587286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Excel & Ja¢ # fAHUfIRad & T A8! I1 T HYH B WY DHifod|

a) = CODE ("A"), A & o0 T=ITHS Bis UeRid a1 |

b) = CODE ("!"), | & forT 3earefmd ol ueiid exdr gl
c) = ABS (-44), -44 FT AU 711 TS RId Ha1 8 S 44 B

Options :

1465871141, ¢ a) — T@l; b) — Tal; ¢) — gl

1465871142, % a) —FgI; b) - TeId ¢) — TId

1465871143 % a) — T b) - T8 c) — Jal

1465871144, % a)— gl b) - Tal; ¢) — TAd

Question Number : 37 Question Id : 146587287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

PowerShell is a/an command-line shell designed especially for system administrators.
Options :

1465871145. ¥ Windows

1465871146. * Linux

1465871147. * DOS

1465871148. * i0S

Question Number : 37 Question Id : 146587287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

PowerShell T FHHS-M3 U g off [aY =7 ¥ Rey wsffAeerl & fore fewmsa fear mn g |
Options :

1465871145. ¥ Windows

1465871146. * Linux

1465871147. * DOS

1465871148. * i0S

Question Number : 38 Question Id : 146587288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

is an operating system software.
Options :
1465871149. ¥ Linux
1465871150. * Disk Fragmentary
1465871151. * DirectX
1465871152. * Opera

Question Number : 38 Question Id : 146587288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



T SR Rited e 7
Options :
1465871149. ¢ Linux
1465871150. * Disk Fragmentary
1465871151. * DirectX
1465871152. ®* Opera

Question Number : 39 Question Id : 146587289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Windows NT 4.01s a and operating system software.
Options :

1465871153, ¢ multi-user; multitasking

1465871154. ® single-user; multitasking

1465871155. ® single-user; single tasking
1465871156. ¥ multi-user; batch

Question Number : 39 Question Id : 146587289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Windows NT 4.0 Uch GﬁT TR RewH W%I
Options :

1465871153. ¢ Hecl-goR; Hec [CTRh T

1465871154, % TTTC-GoR; AT ICTReh T

1465871155. % TRITTe-goR; RiTTe T1ieh T

1465871156, # Teel-goR; 9

Question Number : 40 Question Id : 146587290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an object-oriented programming language?
Options :



1465871157. % C
1465871158, % C++
1465871159. #* Visual C++
1465871160. ¥ Java

Question Number : 40 Question Id : 146587290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFrafafed 5 9 &1 91 Ue sifsside-ofiftues e ymr gt 82
Options :

1465871157. % C

1465871158, ® C++

1465871159. #* Visual C++

1465871160. * Java

Question Number : 41 Question Id : 146587291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the columns and select the most appropriate option from those given below.

a) Java i) Logarithmic language for programming scientific computation
b) Algol i1) Requires JVM for interpretation

c) PHP iil) An open source database management system

d) MongoDB | iv) Object-oriented programming language

Options :

1465871161. % a—ii; b—i; ¢ —iv; d —iii
1465871162. ® a—i; b —ii; ¢ —iv; d —iii
1465871163, ¥ a—ii; b —iii;c —iv; d—1i
1465871164. ® a—ii;b—i; ¢ —iii; d —iv



Question Number : 41 Question Id : 146587291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T v e @ Fema FY AR TEE 3ugEa TEr @eeT # 9ae #

a) Java i) Frsfefher Frogeers & i & v e s
b) Algol i) eI F AT JUM & 3maemerar &
c) PHP i) TF T Y T Aaswe Fees

d) MongoDB |iv) 3Teaiwre 3ifyves Srenfder smar

Options :

1465871161. % a—1ii;b—1; ¢ —iv; d —1ii
1465871162. # a—1i;b—ii;c—iv; d —iii
1465871163. # a—1ii;b—iii; c —iv;d —1i
1465871164. # a—1ii;b—1; ¢ —iii; d —iv

Question Number : 42 Question Id : 146587292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the file extension for a PYTHON source code file?
Options :

1465871165. * pythons

1465871166. ¥ py

1465871167. * pyc

1465871168. * pyt

Question Number : 42 Question Id : 146587292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

PYTHON TR B H13d BT Tac I &1 BIdl 82
Options :

1465871165. ® pythons

1465871166. ¥ py

1465871167. # pyc

1465871168. #® pyt

Question Number : 43 Question Id : 146587293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is PostgreSQL?

Options :

1465871169. ¥ A free and open source object-relational database management system
1465871170. ¥ A proprietary object-oriented database system

1465871171. ¥ A proprietary Relational database system

1465871172. ¥ Graph database system

Question Number : 43 Question Id : 146587293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
PostgreSQL T %?
Options :

1465871169, ¢ Tht 3R 3N TR 3ffeviae 3NNUSS SeTay Avife Ried
1465871170, ¥ TSR} 3fevlac RUCS Scray ReH

1465871171, ¥ THT8est RaleHd Seray RieH

1465871172, % % Sclay RikeH

Question Number : 44 Question Id : 146587294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the columns and select the most appropriate option from those given below.

a) Drupal 1) Designed for managing data in a relational database management system
b) SQL i1) Free and open-source content management framework written in PHP
¢) Django ii1) NoSQL database management system

d) Apache Cassandra | iv) A high-level Python Web framework

Options :

1465871173. % a—1ii;b—1; ¢ —iv; d —1ii
1465871174. # a—1i;b—1ii; ¢ —iv; d —iii
1465871175. # a—1ii;b—iii; c —iv;d —1i
1465871176. # a—1ii;b—1iv;c—1i;d —iii

Question Number : 44 Question Id : 146587294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T a7 e @ Fema Y AR TEE SugFa TEr @eeT # 9ae #

a) Drupal i) R seey dAaede s # =er oo =9 & fov =g
b) SQL i) PHP & faf@a #r sk 3ua a9 & A7=dc vA-35

c) Django iy NoSQL ey Ha=de s

d) Apache Cassandra |iv) gE-oldel TSy 39 HH-IF

Options :
1465871173. ¥ a—ii; b—1i; ¢ —iv; d —iii



1465871174. ®¥ a—1i;b—ii;c—iv; d —iii
1465871175. ® a—ii;b—iii;c—iv;d—1i
1465871176. ® a—ii;b—iv;c—i; d—iii

Question Number : 45 Question Id : 146587295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the internet terminology, the acronym W3C is used to describe:
Options :

1465871177. ¥ World Wide Web Conference

1465871178. ¥ World Wide Web Consortium

1465871179. ¥ World Wide Web Communication

1465871180. ¥ World Wide Web Coliseum

Question Number : 45 Question Id : 146587295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

$exC saraal H, Hféd 2reg w3 o1 qul ¥ J &1 giell &7

Options :

1465871177, # ¢S dI3S dd BT (World Wide Web Conference)
1465871178. ¢ ¢S dIsS 99 HANRIH (World Wide Web Consortium)
1465871179, % TGS A28 99 HRIHIH (World Wide Web Communication)
1465871180. % GCS dI3S dd DIFSIIH (World Wide Web Coliseum)

Question Number : 46 Question Id : 146587296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the information security triad, only authorized people or systems can access the protected data while unauthorized persons are restricted. It is
called as of information.

Options :
1465871181. * integrity
1465871182. ¥ confidentiality



1465871183. * availability
1465871184. * non-repudiation

Question Number : 46 Question Id : 146587296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AT R TS H, me%maﬁwmmaﬁnmﬁwﬁqéﬁﬂﬁﬂﬁw% d% Ugd Ihd g | 39 Il
Gal HEI AT 8

Options :

1465871181. ¥ AT (integrity)

1465871182, + TN (confidentiality)

1465871183, # IUAIAT (availability)

1465871184, % TR-3IIHIU(non-repudiation)

Question Number : 47 Question Id : 146587297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a building, wi-fi connectivity is provided. We have moved laptop from one room to another. What is the status of MAC address of laptop?
Options :

1465871185. % It will not change.

1465871186. * It will change dynamically.

1465871187. * It needs to change manually.

1465871188. * Wi-fi solution will change this address.

Question Number : 47 Question Id : 146587297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

forelt SURA B, A15-WIS HATacac! 4l 9iid g | §HH AUy ®I Uh HHR ¥ gaR SR § RIFARd &R faa1 81 ueid & 8d (Mac) Td &1
fRufcr = g1t

Options :

1465871185. ¥ UG gl dGel|

1465871186. % Ig SIIHG FU Y gadl ST



1465871187 % Y UG &9 F I&T1 R
1465871188. % TTS-HTs WIcUR 39 Ud & G oI

Question Number : 48 Question Id : 146587298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a computer network, which layer of OSI stack determines packets’ path from source to destination?
Options :

1465871189. ® Transport

1465871190. # Session

1465871191. ¥ Network

1465871192. #* Application

Question Number : 48 Question Id : 146587298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fopeft HEeR Aeawm H, 0SI TP P HIF Tl AR Td F ABR Tided ddb Udbe o1 ury Fuffed Hedt |2
Options :

1465871189. ¥ TIAAIC

1465871190, # I-H

1465871191, ¢ cdd

1465871192, ¥ TAHTA

Question Number : 49 Question Id : 146587299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which is NOT a valid email id from the following list?
Options :

1465871193, ¥ abc@gmail.com

1465871194, ¥ lab.cm@mps.edu

1465871195. % mail.mit.edu



1465871196. * abcl23@yahoo.com

Question Number : 49 Question Id : 146587299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fufefite o) B 8 el a1 ikt 15 o Y B
Options :

1465871193. * abc@gmail.com

1465871194. * lab.cm@mps.edu

1465871195. ¥ mail.mit.edu

1465871196. * abcl123@yahoo.com

Question Number : 50 Question Id : 146587300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a computer network, the topology uses single shared medium to send or receive data.
Options :

1465871197. * Tree

1465871198. * Star

1465871199. ¥ Bus

1465871200. * Mesh

Question Number : 50 Question Id : 146587300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

foreil SR ead |, SIOTarSt STeT ol a1 U & & forg RivTar [ Hifeas &1 IunT &vd g |
Options :

1465871197. % T (Tree)

1465871198, ¥ &R (Star)

1465871199. ¥ & (Bus)

1465871200. # TR (Mesh)



